
 

 

Answer on Question #56310 - Math – Analytic Geometry  

Find the equation of the pair of straight lines joining the origin to the points of intersection of the 

circles represented by 𝑥2 + 𝑦2 = 𝑎2 and 𝑥2 + 𝑦2 + 2( 𝑔𝑥 + 𝑓𝑦) = 0. 

Solution 

Let’s find points of intersection of these circles 

{
𝑥2 + 𝑦2 = 𝑎2

𝑥2 + 𝑦2 + 2( 𝑔𝑥 + 𝑓𝑦) = 0
 

{
𝑥2 + 𝑦2 = 𝑎2

𝑎2 + 2( 𝑔𝑥 + 𝑓𝑦) = 0
 

{

𝑥2 + 𝑦2 = 𝑎2
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The equation of the line pathing through point 
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And the of the line pathing through point 
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Answer: 𝑦 =
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